POWER PROTECTION

u u w
SmartRaCKTM Confl g u ratlons 1111 W. 35th Street_, Chicago, IL 60609 USA
(MOdeI,' PDUSIDEBRKT) www.tripplite.com/support

Zero U Vertical PDU D
Mounting Bracket Kit In TRIPP-LITE

* Method 1: Mounting Buttons Snap into Button Holes in Toolless Mounting Rails (Toolless Mounting Option)
e Method 2: Direct Attachment to Mounting Rails with Screws (Hardware Option)

Parts List

30 T F O ¥

Bracket Mounting Button 4 mm Screws #6-32 Screws M6 Washers 6 mm Screws
(x2) (x2) (x2) (x4) (x4) (x4)
Method 1
Step 1. Attach the two mounting buttons Step 2. Attach the two brackets to the Step 3. To mount the PDU, simply insert
to the outside of the brackets PDU using the four included #6-32 the mounting buttons into the
using the included 4 mm screws. SCrews. mounting rails inside the rack
enclosure. Snap down into place
until the PDU is secure in the rack.
» VAV
B N
- Bl RE
\hl i E g
o i n E E“’
S ® [ g |!
| Ml H
il 0
’/I 0 ] E o o
»H7 | 170 | N,
e’ SR R ol
° b g @ ]
0 gl |
0 0O °f e
\: E é 0|a|
Do fg ® <] Al
i o 'R
S ==
v
0 ’ a 'iﬂ L?[l]
o E o ulall
3 2 | T
0) E o oL °
: ol T
// ’ i g | o
7 o 0 o
& sl Rt
7 h 0
v \\P| i
n v |
(I
|
400
Step 1. Step 2. ’ E I Step 3.




Method 2

Note:  PDUSIDEBRKT must be installed
before equipment is installed in
the rack.

Step 1. Attach the two mounting brackets
to both ends of the PDU using the
four included #6-32 screws.

Step 2. Slide the brackets’ flanges behind

the outer portion of the mounting
rail as seen in the diagram.

Step 3. Attach the brackets to the rack’s

mounting rails using the four
included 6 mm screws and M6

washers.

Note: Smaller and larger
screwdriver clearance
holes will alternate on each
edge of the bracket and are
transposed on the bracket’s
other edge. Insert the
screwdriver into the larger
clearance holes on one
edge to attach the screws
into the smaller holes on
the bracket's other edge.

4

<
<
~

2
<
-~

Fg F F F£F F L F £ F F H B L B

o

[~
=/

O == [0 == [ = [T == [] == [T == [] == [ == [] == [ =[] == [ == [T = [ == [T o= [ o= (] o= [] == [] == [ == [] = [T =

r 0 0O O 0O O O O & O O 0O O

[~

<
2

[~

O=0=0=0=0=0=0=0=0=0=0=0~0~0=0<=0=0<0=0<=0<0

TRIPP-LITE

POWER PROTECTION
- - 7

1111 W. 35th Street, Chicago, IL 60609 USA
www.tripplite.com/support

201006016 93-2926



